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BPAF L0 A8 <H7|>A B 1E2H? [3F

H 7]
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. Gla+1, b+1)=Gla, b)+1

c. Gla, a+b)=G(a, a—b) (&, a>b)
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y=azr’+br+ct AA3E y=dr+e?)
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H 7]

T.e—c>0
Colal< | b
C.a+b+e> d+e
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14. zo) gk a2 f(z)+1S z+12 Y+ Y7} 50]a,
2f (z) —1& 22— 12 W Ymz|7}h 1o]o)
f@)E (@+1)2z—1) 2 J+AE v o] A2 [43]

D —3xz—1
@ —3z+1
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® —z+3

15. 958 o g3t 852
(2°+2x—1)" = ay+ a,x + ayz” + -+ ay gz ol A
a, + ay+as+a; +aq, ag+ ay +a, +ag+ag+ay S TS B4
ojt}.

(2*+22—1)" = ay+ax +ayx’ + -+ az' A
=15 Ystd

ayta, tayt++ay=32 - O
r=—15 tilstd

ay—ayta,— - ta,,= ()
mEh Q¥ Ol A
a,+ a3 +as+a;,+ag= (h

ayt+ ay ta, agtagtay =
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o] 37gellr (FhH~(thell Lok Zs nlas] #A2 A2
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23. o1 y =—22" +axr+b) £ WHgao] x =10]aL, HUgho
3oltt. olufl &= a, boll theto] a+b9f ghe T8k [37]

24. F AL X, Yol st XO YV E
Xovy=XUY) —(Xn
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26. thee th

[33]
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r°— x
2
—x + 3z
—z%+ 2
20—1
2rx+c
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oAb 20° —8r—1=09] F & z=atby2 o]t}

T3HA L.

. [34]
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A D
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28. Al Az, y,
ol 34.
Lz, 2, x> +<Ly, ¥y y> +< 2 2 2> =900,
Kz, L, 1>4+<y, 1, 1>+<2 1, 1> =1941|
Lz, y, 2>9 e P [47]
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B={6m—2lm=1, 2, 3,---}
7} ot} olu] A3 AN BY Y& Fol| A 71 2o 59} T A=

A& o) G Fahal L. [471]

30. 984 flz)=2"+ax+b, glz)=a2>—3z+cl )3}
F A7 A={zlf(x)=g(z)}, B={zlf(z)g(x) =0}e]}.
A={2}, B={2,3,d}2 ®, & q, b, ¢, d w3}
a+b+c+do s AL [44]
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